# **Maryland Population and Density**

	Population	Land Area	Population					
County	July 2018	y 2018 Sq. Miles Density Ranking by Population		ılation	Ranking by Density			
Allegany	70,975	424.2	167.3	1. Montgomery	1,052,567	1. Baltimore City	7,443.7	
Anne Arundel	576,031	414.9	1,388.4	2. Prince George's	909,308	2. Montgomery	2,142.6	
Baltimore City	602,495	80.9	7,443.7	3. Baltimore	828,431	3. Prince George's	1,883.8	
Baltimore	828,431	598.3	1,384.6	4. Baltimore City	602,495	4. Anne Arundel	1,388.4	
Calvert	92,003	213.2	431.6	5. Anne Arundel	576,031	5. Baltimore	1,384.6	
Caroline	33,304	319.4	104.3	6. Howard	323,196	6. Howard	1,289.0	
Carroll	168,429	447.6	376.3	7. Frederick	255,648	7. Harford	581.0	
Cecil	102,826	346.3	297.0	8. Harford	253,956	8. Calvert	431.6	
Charles	161,503	457.8	352.8	9. Carroll	168,429	9. Frederick	387.2	
Dorchester	31,998	540.8	59.2	10. Charles	161,503	10. Carroll	376.3	
Frederick	255,648	660.2	387.2	11. Washington	150,926	11. Charles	352.8	
Garrett	29,163	647.1	45.1	12. St. Mary's	112,664	12. Washington	329.7	
Harford	253,956	437.1	581.0	13. Wicomico	103,195	13. St. Mary's	315.4	
Howard	323,196	250.7	1,289.0	14. Cecil	102,826	14. Cecil	297.0	
Kent	19,383	277.0	70.0	15. Calvert	92,003	15. Wicomico	275.6	
Montgomery	1,052,567	491.3	2,142.6	16. Allegany	70,975	16. Allegany	167.3	
Prince George's	909,308	482.7	1,883.8	17. Worcester	51,823	17. Talbot	137.7	
Queen Anne's	50,251	371.9	135.1	18. Queen Anne's	50,251	18. Queen Anne's	135.1	
St. Mary's	112,664	357.2	315.4	19. Talbot	36,968	19. Worcester	110.7	
Somerset	25,675	319.7	80.3	20. Caroline	33,304	20. Caroline	104.3	
Talbot	36,968	268.5	137.7	21. Dorchester	31,998	21. Somerset	80.3	
Washington	150,926	457.8	329.7	22. Garrett	29,163	22. Kent	70.0	
Wicomico	103,195	374.4	275.6	23. Somerset	25,675	23. Dorchester	59.2	
Worcester	51,823	468.3	110.7	24. Kent	19,383	24. Garrett	45.1	
Total	6,042,718	9,707.2	622.5					

# **Population Growth in Maryland**

				Average Annual Change			
County	July 2000	July 2010	July 2018	2000-2010	2010-2018	2000-2018	
Allegany	74,804	74,966	70,975	0.0%	-0.7%	-0.3%	
Anne Arundel	491,670	539,277	576,031	0.9%	0.8%	0.9%	
Baltimore City	649,086	621,005	602,495	-0.4%	-0.4%	-0.4%	
Baltimore	755,598	806,560	828,431	0.7%	0.3%	0.5%	
Calvert	75,118	88,988	92,003	1.7%	0.4%	1.1%	
Caroline	29,773	33,054	33,304	1.1%	0.1%	0.6%	
Carroll	151,454	167,212	168,429	1.0%	0.1%	0.6%	
Cecil	86,448	101,167	102,826	1.6%	0.2%	1.0%	
Charles	121,229	147,156	161,503	2.0%	1.2%	1.6%	
Dorchester	30,581	32,688	31,998	0.7%	-0.3%	0.3%	
Frederick	196,563	234,204	255,648	1.8%	1.1%	1.5%	
Garrett	29,838	30,141	29,163	0.1%	-0.4%	-0.1%	
Harford	219,797	245,235	253,956	1.1%	0.4%	0.8%	
Howard	249,590	288,628	323,196	1.5%	1.4%	1.4%	
Kent	19,252	20,212	19,383	0.5%	-0.5%	0.0%	
Montgomery	877,478	976,287	1,052,567	1.1%	0.9%	1.0%	
Prince George's	803,111	865,747	909,308	0.8%	0.6%	0.7%	
Queen Anne's	40,763	47,809	50,251	1.6%	0.6%	1.2%	
St. Mary's	86,498	105,762	112,664	2.0%	0.8%	1.5%	
Somerset	24,710	26,464	25,675	0.7%	-0.4%	0.2%	
Talbot	33,895	37,874	36,968	1.1%	-0.3%	0.5%	
Washington	132,051	147,734	150,926	1.1%	0.3%	0.7%	
Wicomico	84,899	98,971	103,195	1.5%	0.5%	1.1%	
Worcester	46,828	51,501	51,823	1.0%	0.1%	0.6%	
Total	5,311,034	5,788,642	6,042,718	0.9%	0.5%	0.7%	

# Racial Composition in Maryland - July 2018

		African	Hispanic/		American	Native		Minority
County	White	American	Latino	Asian	Indian	Hawaiian	Multi Racial	Population
Allegany	86.8%	8.1%	1.9%	1.1%	0.2%	0.1%	2.0%	13.2%
Anne Arundel	67.5%	17.1%	8.1%	4.1%	0.3%	0.1%	2.8%	32.5%
Baltimore City	27.8%	61.9%	5.5%	2.7%	0.3%	0.0%	1.8%	72.2%
Baltimore	56.6%	29.0%	5.7%	6.3%	0.3%	0.0%	2.2%	43.4%
Calvert	78.0%	12.7%	4.1%	1.8%	0.4%	0.1%	2.8%	22.0%
Caroline	75.5%	13.8%	7.4%	1.0%	0.3%	0.0%	2.1%	24.5%
Carroll	88.7%	3.6%	3.7%	2.0%	0.2%	0.1%	1.7%	11.3%
Cecil	84.9%	6.6%	4.6%	1.4%	0.3%	0.1%	2.2%	15.1%
Charles	38.6%	47.9%	6.0%	3.3%	0.6%	0.1%	3.5%	61.4%
Dorchester	62.6%	27.9%	5.9%	1.1%	0.3%	0.0%	2.0%	37.4%
Frederick	72.7%	9.6%	10.2%	4.7%	0.2%	0.1%	2.6%	27.3%
Garrett	96.3%	1.0%	1.2%	0.4%	0.2%	0.0%	0.8%	3.7%
Harford	75.5%	14.0%	4.7%	3.0%	0.2%	0.1%	2.5%	24.5%
Howard	51.1%	19.3%	7.1%	19.0%	0.2%	0.1%	3.3%	48.9%
Kent	78.0%	14.5%	4.3%	1.3%	0.2%	0.0%	1.7%	22.0%
Montgomery	43.4%	18.5%	19.9%	15.3%	0.2%	0.0%	2.7%	56.6%
Prince George's	12.5%	61.9%	19.1%	4.3%	0.2%	0.0%	2.0%	87.5%
Queen Anne's	86.3%	6.2%	4.1%	1.1%	0.3%	0.0%	2.0%	13.7%
St. Mary's	73.9%	14.3%	5.3%	2.9%	0.3%	0.1%	3.2%	26.1%
Somerset	51.4%	41.4%	3.6%	0.9%	0.4%	0.0%	2.3%	48.6%
Talbot	77.7%	12.4%	6.8%	1.3%	0.2%	0.0%	1.5%	22.3%
Washington	78.2%	11.6%	5.4%	1.9%	0.2%	0.1%	2.7%	21.8%
Wicomico	62.3%	26.5%	5.4%	3.0%	0.2%	0.0%	2.5%	37.7%
Worcester	80.1%	12.8%	3.6%	1.5%	0.3%	0.0%	1.7%	19.9%
Total	50.5%	29.8%	10.4%	6.6%	0.2%	0.1%	2.4%	49.5%

## Population Growth by Racial Composition July 2000 to July 2018

County	White	African American	Hispanic/ Latino	Asian	American Indian	Native Hawaiian	Multi Racial	Total Population	Minority Population
Allegany	-11.0%	43.5%	119.1%	104.3%	-9.4%	16.1%	199.1%	-5.1%	67.5%
Anne Arundel	-0.9%	48.5%	250.5%	104.4%	7.7%	63.7%	160.2%	17.2%	88.5%
Baltimore City	-17.0%	-10.7%	190.3%	60.0%	-16.9%	6.9%	78.5%	-7.2%	-2.8%
Baltimore	-15.6%	57.7%	230.6%	109.6%	20.7%	41.4%	158.1%	9.6%	79.6%
Calvert	15.0%	19.1%	225.2%	162.6%	51.4%	107.3%	212.6%	22.5%	58.8%
Caroline	4.6%	4.1%	208.4%	98.8%	12.0%	62.5%	151.6%	11.9%	42.3%
Carroll	3.7%	79.4%	285.4%	201.1%	7.1%	102.0%	236.4%	11.2%	159.3%
Cecil	9.0%	104.0%	234.1%	141.9%	8.4%	32.5%	208.5%	18.9%	144.1%
Charles	-23.5%	144.5%	243.6%	135.8%	15.0%	110.8%	176.3%	33.2%	149.8%
Dorchester	-4.6%	3.4%	389.2%	83.9%	8.3%	450.0%	154.1%	4.6%	24.9%
Frederick	7.2%	97.9%	436.7%	256.8%	47.8%	120.3%	197.6%	30.1%	199.9%
Garrett	-4.3%	78.8%	171.8%	126.0%	43.6%	N/A	162.8%	-2.3%	123.0%
Harford	1.6%	74.9%	179.2%	127.6%	25.9%	81.8%	149.6%	15.5%	100.5%
Howard	-9.1%	73.0%	198.0%	212.7%	17.8%	97.8%	161.8%	29.5%	132.4%
Kent	0.2%	-15.4%	66.0%	123.4%	-55.1%	100.0%	114.4%	0.7%	2.4%
Montgomery	-12.9%	45.1%	104.9%	59.6%	-3.1%	44.6%	106.0%	20.0%	68.7%
Prince George's	-41.9%	11.7%	198.0%	23.3%	-4.3%	14.3%	56.8%	13.2%	30.9%
Queen Anne's	20.2%	-12.2%	324.6%	140.7%	27.5%	220.0%	213.4%	23.3%	46.6%
St. Mary's	19.6%	34.6%	230.8%	106.6%	40.2%	31.7%	195.5%	30.3%	74.1%
Somerset	-4.1%	4.8%	167.4%	67.2%	-4.0%	N/A	160.9%	3.9%	13.9%
Talbot	4.4%	-11.5%	310.0%	68.2%	-7.9%	1600.0%	145.4%	9.1%	29.1%
Washington	0.3%	72.4%	386.5%	166.8%	29.7%	80.7%	241.1%	14.3%	129.4%
Wicomico	6.0%	37.7%	196.0%	105.9%	37.3%	-34.2%	235.7%	21.6%	60.4%
Worcester	10.2%	-14.4%	198.7%	157.1%	49.0%	30.8%	148.0%	10.7%	12.5%
Total	-7.6%	21.7%	169.9%	84.0%	6.9%	51.0%	128.6%	13.8%	48.9%

## Population Growth by Racial Composition July 2010 to July 2018

County	White	African American	Hispanic/ Latino	Asian	American Indian	Native Hawaiian	Multi Racial	Total Population	Minority Population
Allegany	-6.9%	-3.1%	21.1%	34.5%	25.0%	38.5%	27.1%	-5.3%	6.7%
Anne Arundel	-0.4%	19.5%	39.7%	27.8%	5.9%	9.3%	30.0%	6.8%	25.8%
Baltimore City	-4.1%	-5.3%	26.7%	10.8%	-11.1%	-2.9%	12.0%	-3.0%	-2.5%
Baltimore	-7.2%	15.0%	37.1%	26.4%	2.7%	1.1%	23.0%	2.7%	19.3%
Calvert	1.1%	-1.1%	55.3%	33.0%	14.5%	107.3%	22.2%	3.4%	12.2%
Caroline	-2.9%	1.2%	35.7%	65.6%	19.1%	44.4%	26.1%	0.8%	13.8%
Carroll	-2.1%	15.8%	42.0%	34.6%	5.2%	114.6%	35.5%	0.7%	29.9%
Cecil	-1.3%	11.4%	36.5%	31.0%	9.8%	8.2%	25.2%	1.6%	21.8%
Charles	-12.2%	29.2%	53.5%	20.6%	11.0%	79.3%	23.4%	9.7%	30.2%
Dorchester	-7.2%	-0.6%	65.9%	15.1%	3.0%	37.5%	23.4%	-2.1%	7.9%
Frederick	1.9%	24.1%	50.2%	30.1%	7.2%	47.6%	35.5%	9.2%	34.8%
Garrett	-4.2%	0.7%	59.6%	43.0%	47.4%	0.0%	42.8%	-3.2%	32.3%
Harford	-1.3%	15.9%	38.4%	29.5%	7.8%	10.5%	23.9%	3.6%	22.0%
Howard	-3.3%	25.2%	36.5%	44.8%	15.1%	67.9%	28.7%	12.0%	34.1%
Kent	-4.4%	-6.4%	-7.8%	60.0%	34.8%	50.0%	8.3%	-4.1%	-3.1%
Montgomery	-5.1%	18.3%	24.9%	17.4%	6.6%	8.2%	22.3%	7.8%	20.4%
Prince George's	-12.3%	1.9%	33.4%	9.8%	0.7%	-2.1%	11.6%	5.0%	8.1%
Queen Anne's	3.8%	-3.7%	41.2%	18.8%	0.0%	33.3%	39.5%	5.1%	14.2%
St. Mary's	2.8%	8.0%	47.7%	23.4%	12.5%	29.7%	28.6%	6.5%	18.6%
Somerset	-4.3%	-4.3%	7.5%	18.5%	11.8%	75.0%	42.1%	-3.0%	-1.5%
Talbot	-4.0%	-4.7%	20.7%	-0.2%	40.0%	6.3%	13.2%	-2.4%	3.7%
Washington	-3.9%	24.2%	56.3%	32.7%	7.0%	51.5%	30.1%	2.2%	32.3%
Wicomico	-2.4%	14.9%	23.0%	24.4%	12.9%	19.0%	27.5%	4.3%	17.5%
Worcester	0.2%	-4.5%	12.7%	31.7%	12.3%	54.5%	19.2%	0.6%	2.3%
Total	-3.7%	6.8%	32.2%	22.7%	4.2%	18.0%	22.9%	4.4%	14.1%

# **Minority Share of Population in Maryland**

				Percentage Point Change				
County	July 2000	July 2010	July 2018	2000-2010	2010-2018	2000-2018		
Allegany	7.5%	11.7%	13.2%	4.2	1.5	5.7		
Anne Arundel	20.2%	27.6%	32.5%	7.4	4.9	12.3		
Baltimore City	69.0%	71.9%	72.2%	2.9	0.3	3.3		
Baltimore	26.5%	37.4%	43.4%	10.9	6.1	16.9		
Calvert	17.0%	20.3%	22.0%	3.3	1.7	5.0		
Caroline	19.3%	21.7%	24.5%	2.4	2.8	5.3		
Carroll	4.8%	8.8%	11.3%	3.9	2.5	6.4		
Cecil	7.4%	12.6%	15.1%	5.2	2.5	7.7		
Charles	32.7%	51.7%	61.4%	19.0	9.7	28.7		
Dorchester	31.4%	34.0%	37.4%	2.6	3.5	6.1		
Frederick	11.9%	22.1%	27.3%	10.3	5.2	15.5		
Garrett	1.6%	2.7%	3.7%	1.1	1.0	2.1		
Harford	14.1%	20.8%	24.5%	6.7	3.7	10.4		
Howard	27.3%	40.9%	48.9%	13.6	8.1	21.7		
Kent	21.6%	21.8%	22.0%	0.1	0.2	0.4		
Montgomery	40.2%	50.7%	56.6%	10.4	5.9	16.4		
Prince George's	75.7%	85.1%	87.5%	9.4	2.5	11.8		
Queen Anne's	11.5%	12.6%	13.7%	1.1	1.1	2.2		
St. Mary's	19.6%	23.5%	26.1%	3.9	2.7	6.6		
Somerset	44.3%	47.8%	48.6%	3.5	0.7	4.3		
Talbot	18.8%	21.0%	22.3%	2.1	1.3	3.5		
Washington	10.9%	16.8%	21.8%	6.0	5.0	10.9		
Wicomico	28.5%	33.4%	37.7%	4.9	4.2	9.1		
Worcester	19.5%	19.5%	19.9%	0.0	0.3	0.3		
Total	37.8%	45.3%	49.5%	7.5	4.2	11.7		

# **Minority Population Growth in Maryland**

				Average Annual Change			
County	July 2000	July 2010	July 2018	2000-2010	2010-2018	2000-2018	
Allegany	5,606	8,803	9,389	4.6%	0.8%	2.9%	
Anne Arundel	99,165	148,614	186,967	4.1%	2.9%	3.6%	
Baltimore City	447,632	446,563	435,247	0.0%	-0.3%	-0.2%	
Baltimore	200,400	301,614	359,919	4.2%	2.2%	3.3%	
Calvert	12,750	18,044	20,253	3.5%	1.5%	2.6%	
Caroline	5,744	7,182	8,176	2.3%	1.6%	2.0%	
Carroll	7,330	14,634	19,008	7.2%	3.3%	5.4%	
Cecil	6,367	12,762	15,540	7.2%	2.5%	5.1%	
Charles	39,690	76,152	99,163	6.7%	3.4%	5.2%	
Dorchester	9,589	11,099	11,974	1.5%	1.0%	1.2%	
Frederick	23,306	51,844	69,902	8.3%	3.8%	6.3%	
Garrett	479	807	1,068	5.4%	3.6%	4.6%	
Harford	30,986	50,903	62,121	5.1%	2.5%	3.9%	
Howard	68,066	117,983	158,169	5.7%	3.7%	4.8%	
Kent	4,167	4,404	4,267	0.6%	-0.4%	0.1%	
Montgomery	353,169	494,713	595,735	3.4%	2.3%	2.9%	
Prince George's	607,892	736,543	795,954	1.9%	1.0%	1.5%	
Queen Anne's	4,684	6,014	6,868	2.5%	1.7%	2.1%	
St. Mary's	16,920	24,843	29,452	3.9%	2.2%	3.1%	
Somerset	10,946	12,660	12,471	1.5%	-0.2%	0.7%	
Talbot	6,377	7,938	8,233	2.2%	0.5%	1.4%	
Washington	14,332	24,855	32,881	5.7%	3.6%	4.7%	
Wicomico	24,222	33,069	38,862	3.2%	2.0%	2.7%	
Worcester	9,144	10,052	10,287	1.0%	0.3%	0.7%	
Total	2,008,963	2,622,095	2,991,906	2.7%	1.7%	2.2%	